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20004 (H12) — 20024 (H14) 20034 (H15) — 20054 (H17) 20064 (H18) — 20084 (H20) 20094 (H21) — 20114 (H23) 20124 (H24) — 20144 (H26) 2015 (H27) — 20174 (H29) E5H—%6H
1 | e 3,618 |4 e 4,957 |4 e 4,875 |& & 4,999 | i 5,880 |4 e 6,267 |(LL g 18.0] 1
2 |& 5 3,320 |#& 5 4,251 |f& 5 4,861 |4 e 4,882 |# = 5,634 |#0 0 L 6, 243 ||[t& 5 17.8] 2
3 |& #x 3,256 | & # 4,029 |& # 4,781 |{& 5 4,854 | & 1 5,546 |H #* 6, 175 (|&F 5 17.5] 3
4 |X ) 3192 | R 5 3,814 |k ) 4,765 | & ] 4,721 |& L 5,513 |& il 6, 144 (% B 16.0] 4
5 |%& F* 3, 158 |RE S 3,798 | X iR 4,675 | & i 4,635 |#0 s i 5,501 |k H 6,078 g2 B 5 15.6] 5
6 |&t & & 3,155 |& L 3,789 |1& [i] 4,584 1& bz 4,626 |&§ #* 5491 |& 1 6,063 | 74 14.9] 6
1 |= 3t 3,153 |&A J 3,753 |&A i 4,548 |#0 s L 4,625 | & L) 5,421 | X B 6,025 |[& F 14.9] 7
8 |= 0 3, 141 |1& [i] 3,725 | & Iz 4,526 | KX B 4,588 |5 HY 5,420 |Z Iz 5,999 (8 = 1l 14.2] 8
9 |X B 3,134 |1& B 3,666 |1& B 4,514 |2 i 4,574 |I& 5 5,411 |& L 5,975 (&= R 13.9] 9
10 | R 5 3,116 | L 3, 663 |#0 N L 4,513 |5 HY 4,488 |Z [ 5,379 % o) 5,956 |[Fk H 13.9] 10
1 |& J| 3,076 |& 0 3,649 |= i 4,461 |fd] L 4,469 | X 7 5, 351 |fH i 5,914 |lis B 13.8] 11
12 |f& A 3,073 |'= o) 3,637 |& pl| 4,453 |1&@ [i] 4,467 |5 i 5,343 |15 1R 5912 |[X B 13.6] 12
13 | i 3,072 |5 HY 3,620 |I& 5 4,444 |Is 5 4,462 |#X H 5,338 |#& Eis 5,903 |(¥0 s L 13.5] 13
14 |=® = 3,056 |l = 3,617 | L 4, 440 o) 4,450 | = ] 5,314 I'R #B 5812 |5 Y 13.4] 14
15 |f&8 [i] 3,000 |& o) 3,573 | == #B 4,421 |& N 4,388 | K B 5,306 |= ] 5, 808 [k L 13.2] 15
16 |& 3 3,041 |I& 5 3,570 |#E i 4,412 |#X H 4,375 |18 5 5,282 |l 5 5,796 (I#m X 13.1] 16
17 |I& 3,040 = #B 3,562 |5 Hx 4,321 |5E S 4,357 |i= #B 5,280 | & o} 5,710 ||= bk 12.5] 17
18 |1& B 3,006 |Z % 3,546 | & JE3 4,306 |k B 4,338 |f& FH 5,266 |&F 5 5, 749 |& x 12.5] 18
19 |+ = ) 2,975 |} &, L 3,527 |5 1R 4,267 | #B 4,332 |k L 5,224 |E R 5 5 719 |8 Eis 12.1] 19
20 | ! 2,967 |1&@ F 3,470 | K 7 4,216 | & £ 4,312 |& ) 5,195 J5E X 5, 684 ||+ 3 12.1] 20
21 |5 EX 2,93 | & & 3,435 |'= I3 4,133 |5 iR 4,274 & fif] 5 165 |f& = 5,681 (= Iz 11.5] 21
22 |& Iz 2,962 | X ) 3,433 |48 F# 4,128 |%&8 F# 4,253 |'= L) 5 142 1L i 5,644 | R 10.9] 22
23 |®k H 2,940 | K B 3,304 |[E R 5 4,120 |& 1 4,198 |5E ) 5138 |& 1l 5,636 1= E 10.9] 23
24 15 J 2,940 | i 3,347 | & R 4,102 |= ] 4,189 |k B 5,129 |1& fit] 5,632 &k & & 10.9] 24
25 |=E L 2,921 |#k H 3,334 |= | 4,00 |EE R = 4,172 |5 0 5,021 | K 7 5,599 |5 i 10.6] 25
26 |& = 2,911 |5 1R 3,327 |= £ 4,089 |£ E 4,160 |3 = 4,992 |1& 5 5,592 |[5E X 10. 6] 26
21 |3 & i 2,910 | = JE3 3,310 Jil =] 4,088 | K ) 4,155 | &= & 4,982 |'& F 5,574 R #B 10. 1] 27
28 | & JE3 2,903 |& | 3,293 |#h o) 4,047 |= 3 4,150 1L =] 4,978 |& = 5570 (& F 9.7] 28
29 |5 iR 2,891 |& J 3,289 | pl| 3,993 |## = 1 4,106 |= E 4,972 % i 5,563 |(LL A 9.4] 29
30 |& F 2,868 | ;) 3,273 |®X H 3,988 |= R 4,045 |B2 R 5 4,946 |= IR 5 538 ||& JI 9.3] 30
31 |E R 2,859 |&= R 3,154 | 5 3,980 | & g 4,039 e = 5514 |[= ] 9.3] 31
32 IR #h 2, 848 |i# B 3,148 |+ = 1 3,977 |&= R 4,017 & g 4,920 |= 3 5 481 ||& JES 9.2] 32
33 |FF fi] 2,845 |+ = J 3,124 |&= R 3,957 |'= 1 3,999 11 A 4,910 |+ = J 5,465 (&8 [i] 9.0] 33
34 1= ] 2,807 |4 g 3,123 ik B & 3,910 ¥ 5 3,997 |= bk 4,896 |= Ik 5,451 |& 0 8.9] 34
35 |#h i, 2,774 |= £ 3,090 |k g 3,882 L =] 3,996 |&F 5 4,893 | & &= 5,440 |&% fit] 8.7 35
36 |+ - 2,101 | & # 3,072 |i# B 3,837 |'& F 3,990 I’& F 4,851 s B 5,406 (% B 8.6] 36
37 |= Ik 2,697 |#¥ 5 3,031 s B 3,819 it & B 3,984 1% i 4,796 |& 0 5,406 |&F J 8.5] 37
38 |i# B 2,695 |5 F 3,018 |& 1 3,812 |& [i] 3,975 |+ = N 4,18] & g 5,399 |[E K 8.4] 38
39 |#F 5 2,676 |= b 3,007 fil i 3,799 |i% B 3,971 1 2 4,784 |1 A 5371 & 0 1.7] 39
40 |is B 2,675 |isk B 2,962 |5 F 3,686 |l 5 3,948 | & 0 4,768 L =] 5,331 ||f& 5 7.6] 40
M |5 ES 2,632 | & g3l 2,946 |'= b, 3,648 |Z N 3, 941 |is B 4,749 5% S 1.3] 4
42 |#m x 2,579 |5 [i] 2,932 |1 e 3,616 Jis B 3,937 |&# fit] 4, 14 |1= R 5,231 |l 5 1.1] 42
43 | i3 2,515 |+ X 2,812 |+ x 3,590 L iz 3,902 |f& 5 4,705 |2 bk 5,204 L ! 7.1 43
44 =& Ik 2,393 | A 2,836 |&% [i] 3,590 * &/ =& 4,631 |Z 0 5, 191 44
45 |f& = 2,318 |#m 7 2,807 & E3 3, 581 R 3, = R 4,592 |11t & & 5,134 |= L) 6.6] 45
46 |Z g3l 2,373 |35 £ 2, 741 3% S 3,722 & 24 4,528 |5 fit] 5,124 (% i 6.6] 46
41 |k Eg 2,346 |f& = 2, 640 |45 7 3,549 118 5 3, 7117 |15 £ 4,506 |45 N 4,988 ||& [} 6.4] 47
48 R 74 2,613 |f& 5 3,496 |Z% Ik 3, 117 |+ - 4,423 |+ - 4,958 |#r o) 5. 7] 48
49 | Eq 2,213 & 9, 3,461 |+ 3 3, 696 147 R 4,409 |33% ES 4,835 |IX 7 4.6] 49
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